Etkilesimli Egitim

Bélme islemi
6 +:3 = 69'3_ 6 +2-= 68|L 9 +3= 96'3_ 8 +2= 86'L
9-:-3= 8-:- — E 6+3: 6+ =

S

€
4 -4 = 48'1_ 4 -2 = 46'&_ ‘g,')' 8 :4 = 84 | 4 6 -2 = 64|_2_
8 +:4-= 6 2= S |4 4= 4 22 =

3

|
2 +2 = 24'2_ G w3 e 36'3_'5”8-"4*2‘ 42'2_ 01 ¥l 63}3_
4 32 s 6 +3 = GitiAf|2 -2 = 3 +3=

|
=3 = 93|13 | [2+2- 282 | = [3-3- 39|3_ 8 +2-= 82'L
3.;.3: 8+2: E 9+ = 2+2=

o

3
4 +2= 48'2_ 9 +3 = 93|3_ g 8 +2= 84'_2_ 6 -3 = 69|_§_
8+2: 3+ = 3 4+2: 9—1'3=

www.testimiz.com



http://www.testimiz.com/

Etkilesimli Egitim

12'L

12|i

12|i

12|i

32 2

42| 3

52| 4

72'1

szli

72}_3_

92|i

78li|

74}L

48|i

96|i

72|i

54%

75|_3_

56|i

96|_6_

65'i

64|i

60|i

75|i

www.testimiz.com—

Séll

84| 3

68 | 4

#5919

Egllad 52 }i

72‘3

90};

78|L

94}1

75|i

56'i

72|i

woa'z!w!1331°mmm—<\§'

76}i

48 | 3

92| 4

72| 3

www.testimiz.com



http://www.testimiz.com/

